Problem 6

A person pulls on a block by applying a force F and the block
remains at rest. The arrows in the diagram correctly show the
directions, but not necessarily the magnitudes, of the various
forces on the block. Which of the following relations among the
force magnitudes F, W, N, f must be true? f is friction and W is the
weight (the force of gravity).
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Q F=fand N=W

Q F=fand N>W

Q F>fand N<W

Q F>fandN=W

@ None of the above choices is correct.
Preblem 7

x=at+bt" where ¢= 20"/ and b=035"/,
y = Asin(Br) where A =2.0m aﬂd8=;rmd/§
W v fond] the-velocity; v and vy, as funetions of time-
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O F=f andN=W
O F=f and N>W
=0 F>f and N<W
O F>f and N=W

(O None of the above choices is correct.

f=Fcos(0) < F
N+ Fsin(0) =W N<W

Problem 7%
* 3
vy —a+3bt2 =2 4 §¢2
F
vy = ABecos{ Bty — weos{ —
< 29
b)
e Ght— 3¢
72 P
= —ABZsin{Bty= —_sin{—
b= — _284%%29
c)
Y Yr Yy @ &y
0 0 0 2 7 0 0
D —— e o— 3 =

2


Jeff
Cross-Out

Jeff
Cross-Out


	Pages from 8_01l_fall_2005_practice_exam1-2.pdf
	Pages from Pages from 8_01l_fall_2005_practice_1_solut-2.pdf

